Length of Row Equal to 1/1,000* Acre

An accurate estimate of plant population per acre
can be obtained by counting the number of plants in
a length of row equal to 1/1,000% of an acre. Make
at least three counts in separate sections of the
field, calculate the average of these samples, then
multiply this number by 1,000.

Row Width Length of Single Row to
(inches) Equal 1/1,000* of an Acre

6 87'1”
7 74’ 8"
8 65’ 4”
10 52" 3”
15 34’107
20 26" 2"
28 18’ 8”
30 175"
32 16’ 4”
36 14’ 6”
38 139"

40 131”7
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